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Question Number : 1 Question Id : 5500532241 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Plant that possess characters like ramenta. archaegonia, circinate
oeR00er, 58) A0S, HISSHDH dTRo $DAD D),
Options :

Pinus

25

1. %



Drvopteris

rtesbireloe!
2. ¢ =

Funaria

) e 000 bi
4, % ~J

Question Number : 2 Question Id : 5500532242 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct pair from the following

A. Golden algae - diatoms
B. Trichodesmium erythrium - Red Sea
C. Kieselguhr - Chrysophytes

D. Red tides of Mediterranian sea - Dinoflagellates

& 306 T A00d) DT S HOEL

A. edormrdddord 3deren - Eaire e

B. g?éﬁ:é abo D6Hav - Y DA

C. 32 6 - 3 25y

D. SGE0° DBVERD JERD WL -8S RIS w
Options :

. +BCD



, x ABC

.« ACD

. % ABD

Question Number : 3 Question Id : 5500532243 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A) : Fertilization in cycas is called Siphonogamy and Zooidogomy

Reason (R): Male gametes are multiciliate and carried by pollen tube.

N80 (4) 1 290 & 267 HodIm 2 waEED 2Bakw FOIAY wotrd.
600 (R) : oada swren am 30saiuaren ook DT°d 98

WoDaheETRa.
Options :
Both A and R are true and R is the correct explanation to A.

v A 06030 R 20 283D H0dadn R 90 A 20 28 DHdk.
1.+

Both A and R are true but R is not the correct explanation to A.

- A 0803w R a0 203D, 37 R 09a0d& A 50 138 D566 5°¢0.



A 1s true but R is false.

A 2858, 5 R &y,

A 1s false but R is true.

4« ABQDy, 52 R 2036

Question Number : 4 Question Id : 5500532244 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the organisms based on their cell wall characteristics such as pseudomurein,
mycolic acid. stiff cellulosic plates, chitin
APE2P(BD , 0EDS w0, G)ERd Fe(E’D DL, FHI & g LS
ergor $9A0 &R0 BB,
Options :

Archaebacteria. Dinoflagellates, Fungi, Actinomyces

B@ETE-F%@O&P, EIFBSE e, 20ogrew, E%SQ?JE::
1. %

Dinoflagellagtes, Actinomyces. Archaebacteria, Fungi

- @S?ﬁf’éﬁ e, E%S@i}i}, es&gjw%ﬁo:bﬁ, %‘E)oge.u

Actinomyces. Dinoflagellates, Archaebacteria, Fungi

3SDD, ESFTBTE e, e38) 756057, FDogren
3.8 ¥ 7 T 0" &



Archaebacteria, Actinomyces, Dinoflagellates, Fungi

e28) e 3805, eSSV, ESFESE e, 2Dogren

Question Number : 5 Question Id : 5500532245 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Find the correct matching
A) Carrot -- Flowers appear from the same point of peduncle
B) Cocos -- Flowers protected by the modified bract

)
C) Achyranthes -- Flowers appear in the varied lengths of pedicels.
)

D) Cassia -- Flowers appear on the flattened peduncle.

0% 23R SAfR0dn

A)SE - ) ITR Sod0 p PRI a3 gvao 2008)

B) 25 - drarodito B0 i’.;;_‘)?’q:,?.'g_)nﬁbog 2P0 BE0DROSP Gotron
C) ePor0sd - aryen S8 T o AyPoden eotrow

D) SRalr - QP HBSAS ) IR 50803 I\
Options:

2. % AD

3« BC



Question Number : 6 Question Id : 5500532246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Assertion (A) : Dry Dehiscent fruits are usually single seeded.

Reason (R): Tridax fruit is cypsella with pappus like calyx.
NAyB0(A) @ By, WIS Heren &mcﬁéam 28 Dddo $9A cotrow.

s0n0 (R) @ 868y Duo S3rxdyo eroth 858 DErdP DA v\,

Options :
A and R are true and ‘R’ is the correct explanation to “A’.

A 208030 R e 2859, ‘R™ 02008 ‘A7 £ 230 dses.

1. %

A and R are true but ‘R’ is not the correct explanation to “A’.

A 08050 R e 280D, ‘R’ 92008 ‘A7 £ D0 DDH8e s5°¢0.
2. ®

A 1s true but R is false.

A 2858 5°d R 32y,
3. % - ™

A 1s false but R is true

4w A &2 5°A R 208,



Question Number : 7 Question Id : 5500532247 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

State this condition and plant that prevents both autogamy and geitonogamy in this

plant

58), DO°(S ?oo“bwa\’):l. WE; 98 DY doed Kma’::m;j&)l Bodotdd DB A0S ftga S8ain

Zmégj.
Options :

Male and female plants mature at different times — Hibiscus

QR SBAKD B A0g) e S Frod DTS B0y ~ TR

Male and female flowers on the same plant — Gloriosa

208 DY), P WX, ?g D00 — HBaSrI

Separate male plant and female plants — Papaya

STBTT 3D, é D) L0 : 5"y

Male and female flowers on the same plant with different heights — Datura

23 QW) P DR, f’_\g Qiryw S IR sodob : ddrT

Question Number : 8 Question Id : 5500532248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A) : Pollen banks can be used in crop breeding programs.

Reason (R) : Pollen grains can be stored for many vears in liquid nitrogen.
A3yd0 (A) : doeefde 705 0 R DRI 3'3655,5.‘13”9.)66 &003r ot car.
680 (R) : o0 Roddhore drtw ¢ 93uNS" S Graoen e

dabecozrow.
Options :
A and R are true and ‘R’ 1s the correct explanation to “A’.

A D800 R a0 26D, swdoin ‘R’ e9d0dd ‘A7 £ DB Dddes.
1.4

A and R are true but ‘R’ 1s not the correct explanation to *A’.

- A H08ain R e 280D, ‘R’ 35°0 A7 2 28D DdHGes 57,

A 1s true but R 1s false.

A 2356 522 R 921,
3. ®

A 1s false but R i1s true

L« A Oy IR DTS,

Question Number : 9 Question Id : 5500532249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Bi-collateral vascular bundles can be found in these plants
A. Smilax zevlanica
B. Lilium candidum

C. Lyvcopersicon esculentum

D. Withania somnifera

BRI 5‘36;5 oS Doxren $96 e 8.
A. Qyersy 8erdse

B. &dabo srociciav

C. FEDOYSS XV, Totoe

D. dazdate J') doe
Options :
| x A C

, « B.D

Question Number : 10 Question Id : 5500532250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The structures that appear as “Beads-on-string” in the chromatin and the number of
base pairs are

Sardd & roen hdyd ooy Fid $dod oy sbaky T8
Foade 203
Options :

Nucleotides. 100

QAor(SaIree e, 100

Genes. 200

amga@)w, 200
2. % !

Kinetochore. 100

20¢65°E'6 e, 100
3. % =

Nucleosome. 200

Ar(Saird’a e, 200
4.9

Question Number : 11 Question Id : 5500532251 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A non-stamming secondary constriction at a constant location of few chromosomes is
called

&) Sards od ©D60RTR) (o, W gwe.:ée Ao BLG0% Lok

Qer 90T



Options :
Centromere

| ROt

Short arm

. TE eI

Satellite

e85
3. ¢ =

Kinetochore

- 32e5°8°6
4, % =

Question Number : 12 Question Id : 5500532252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The bonds found in a polynucleotide chain between the mdividual nucleotides and
nitrogen bases

w8 P ArBorSl & Feod” A& ArEarad w LB dgad Tov

06 & LorreD g0,
Options :
Peptide bond, Hydrogen bond

PRE 0G0, & ad woo
1.% o



Hydrogen bond. Peptide bond

2PE2D wodo, DRE 060

[ T

Phosphodiester bond, Hydrogen bonds

@“ﬁﬁsn@o}:}ﬁ 220650, 3E 2D oo
3.¢¥ : =

Glycosidic bond. Phosphodiester bond
ASRAES eodso, FANE 6 evotso

4. % o

Question Number : 13 Question Id : 5500532253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Select the correct statement regarding the cell membrane from the following

SaS(EPS 080B0w Sobd T8 AV0C VTR T Dot od.
Options :

+ i y 4 «
Na and K ions move across cell membrane without carrier proteins

| T8 DD en Grore Na” 6ok K waird 68 asdorbdoos

Proteins make up 60 to 70% of the cell membrane

L S03K0 60 10 70% F'ede &3 Sairdd Sabercdsod



Lipids are arranged in a bilayered cell membrane with polar heads towards the inner
part

Gochy S0 S ee” Dk eendo ¢yd ITen &0 Jnd wisyad sotraw

Fluid mosaic model of cell membrane was proposed by Singer and Nicolson
g2’ 0 32009 208200 PFANE Aerans HHrrd dofid Hbain

DS HD 0 PAF BT
4, & i

Question Number : 14 Question Id : 5500532254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The reason for the similar size of vascular bundles in Monocot leaf
DEBPD D0’ w3 DBATR0S” Eod TV Do VL TG0
Options:

Modification of epidermal cells

TIPS, SEen Erarosito Dot

Mesophyll

LTroddo
2. #

Bundle sheath

2DoRIY) B EXHD

4.



Parallel venation

T o0 S aﬂéa’::éo.

Question Number : 15 Question Id : 5500532255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Polyarch and tetrarch vascular bundles generally occur in these

PG TrEg0 SB0K) Yy s ToS0ErL) DBS SdDLTEA.
Options :

Monocot stem and dicot root.

DEGTD2 Pt 8% &Scé@é'}a S,

Dicot stein and monocot stein.

ALE¥D Soko D803 VST SCoko.

Dicot root and monocot root.

&Scwebe.a BE 00050 VESTDR D,

Monocot root and dicot root.

DEGSTD DA A8 &Sﬁﬁeﬁaﬁ. DA,

Question Number : 16 Question Id : 5500532256 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Select the incorrect statements related to anatomical characters from the following
[) Endodermis is a part of the stele.

IT) Endodermis with casparian strips are found in the dicot stem,

I1T) Bulliform cells are found in the upper epidermis of the isobilateral leaf.

IV) Vascular bundles are open in monocot stems.
©030) T7) 82 VEFPVL) Voeodord BB 5 TPV & Sob &) Ao
J0) 5 0.

D) e0d8y6)dm DR WoFAWE WS eriidw.
Il) Bevda Sokod’ wod$6) eren 3'3?0360&35 2008 o).
II) De0BERG) 208" D ererisdo & andard Soren 0.

IV) Dd6¥da g SForrod DHY IS oI SV,
Options:

S LILIV

, o LILII

L x ILIV

, o IL IV

Question Number : 17 Question Id : 5500532257 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Below reaction is catalyzed by the enzyme

S0& BB(S &BBSrT DIALBAZN DD F
CO3+ H;0 —H,CO3

Options :
Enolase

| x ANSE

Aconitase

@8BS
2. %

Fumarase
DH0H
-
Carbonic anhydrase

5E\I8 0d rEs

4.

Question Number : 18 Question Id : 5500532258 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In plants sugar synthesis takes place in

208) 08’ B3 80 DoFNE BEOH PBHIW

Options :



Grana of chloroplast

°8e38e0:9)e5° D HEdseTr RN

Stroma lamella of chloroplast

3838 HS’D DB erdogr

Mitochondrial matrix
- 2085 arododor JHras
Stroma of chloroplast

ool a Talx byl AB0E), D08

Question Number : 19 Question Id : 5500532259 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Transport proteins which act as the control points for solute movement are found in
TATV e Joboden Sogreur DABD o THD v D8 &) 8
Options :
Epidermis
wﬁsﬁd&&fw
1. &
Pericycle

|, OS50



Hypodermis

. @Cf}g%{bd&m

Endodermis

e90e5%~ &) a2
pw o

Question Number : 20 Question Id : 5500532260 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct pair of aerobic and anaerobic nitrogen fixing bacteria respectively
AR .gvbs TORTS 060D TOiNEPS P3O0 © ABAD 2R
HENTT 0tk
Options :

Azotobacter and Nostoc

e023eS eI s A0803 TekE
1 % (] &2

Bacillus and Frankia

L PO 2Basn grosad

Beijerinickia and Rhodospirillum

glzrBodair 8o 6&° 2 S
3¢ = ®



Rhodospirillum and Azotobacter

5= )00 803w e92385 e ss
4, % © &

Question Number : 21 Question Id : 5500532261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the incorrect statement with reference to the cyclic electron transport

306 88 S0 JUTN ST VowoGoddd O TR0 k) F

Options :

PSI alone i1s functional.

PSI s0rgha SOS0Pa0aa00Tr &otd.

1. %

Occurs 1n stroma lamella.

i 93585 DHedgeres” 280,
2.

Membrane of stroma lamellae lack NADP reductase enzyme.

05050098 S(aros’ NADP 00866 JoB eocicd.
3. %

Occurs when wavelengths below 680 nm are available for e excitation.

e &QgdD, 680 nm oé 85, édod@%o 30 508 VF[ERONARE ADAD.
4.

Question Number : 22 Question Id : 5500532262 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the correct statement about fermentation.

éﬁSéMééJ 2082050 DBAD SEE
Options :

Glucose breakdown completely.

ArEE 2oHFOrT DD\ DI

Net gain of energy is 2 ATP and 1 NADH-
QEGD00 $3 erzio 2 ATP H08acsw 1 NADH,

O, is required.

O enH0G0 codd.

An anaerobic reaction.

TPo30 T h ?5‘;350&).

Question Number : 23 Question Id : 5500532263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Following 1s not applicable m terms of plant-water relations, if a seed is soaked in
water

w8 DITR) S TRBEVYE 208 D8 2000500 J0HANS’, 308
TS 500G

Options :

Water movement along a concentration gradient.

TEE Do B3e5° DL oo,

Increase in seeds volume

DT DIDBATE0eS” DB,

Helps the seedlings to emerge out from soil

Soogen 20D &mﬁg“:} 0K Sehye

No affinity between adsorbent and liquid

DTy DTS, $TIS B0 WokS S
e o

Question Number : 24 Question Id : 5500532264 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

N3 +30, —2 5 INO,+0, —P 5 2NO;

In the above reaction a and b are

2D B SE(EeS” a Hdatn b e SR



Options :
Thiobacillus and Nitrococciis

BArerded Ho803n IEEES

Nitrosomonas and Nitrobactor

DI TS Sobasw J¢Terssd
2. ¥

Nitrococcus and Nitrosomonas

DETEED H8030 I oD

Nitrobactor and Nitrosonionas

DS ergs 208080 T Arad

Question Number : 25 Question Id : 5500532265 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct statements

a. Inability of seed germination due to immature embryo is called Quiescence.
b. Seed coats of Fabaceae do not absorb O, and H,0.

¢. Germination of tomato seeds is inhibited by chemical compounds.

d. Seeds of polygonum require exposure to low temperature.

PBED TR Mo
2. HEDET Docto S DS 00 BEiLTHerdy SOy wotrd.
b. &% da Sdaren 0) 8ot HH0 den§GY.

C. 84785 Dre e90208E GroLIre Ho ABGocdeo.

d.FDHHD DSrren S5 S el tidD wardddodto.

Options:

1 %ab.cd
ZJde
;3 % Cd

4. ® a.b.d

Question Number : 26 Question Id : 5500532266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A: Sedges and grasses
B: Trees

C: Phytoplankton

D: Free floating plants

Arrange the above in a sequence in primary succession in water

A off) S8 B08 20 0 Bk AE SO
B: OyFren

C: 5)E0057e

D: dthp #dDairE 2008 &0

DB FE 908:2008" p TAD w8 LodwS” wA\HW.
Options :

;s B=>A->D=C
,w C—>D—->A-B
;3 xA>C—>D—B

42 s D=>C—->A—B

Question Number : 27 Question Id : 5500532267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A) : Epidermis of hydrophytes 1s useful for absorption and assimilation
Reason (R) : Inhydrophytes epidermal cells are devoid of cuticle and contains

chloroplasts.

Mo (A): 58 Eﬁmébuée & 60 Fae 0805 Sﬂioﬁédeae‘i*
E003 00,
8w (R) : a8 MSGUESGD o 36, Serosh 9N &0t oty s

Genaywad 598 eotrow.
Options :
Both A and R are correct and R 1s the correct explanation of A.

> A 08030 R e Godr 280D, 08030 R 298008 AL 230 DdHGe.
'I. il

Both A and R are correct but R is not the correct explanation of A.

A 8050 R &0 Go&ksr 28, 5°Q R @908 AL 28R DHGe S°¢h.
2. #

A 1s correct but R 1s incoirect.

A 2356 520 R &2,
3. %

A 1s mcorrect but R 1s correct.

L« A By SO R 236,

Question Number : 28 Question Id : 5500532268 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Free living microorganisms that feed on organic detritus and an example
0y Dodl HTTV T a6 §3 Dy Arg) 2o Lok earén.
Options :

Parasites. Salmonella

DO Bew, IS de

1. %

Saprophytes. Bacillus

RS, PRV
2. %

Parasites. Rhodospirillum

Do) BHew, BE 8o
3. %

Saprophytes. Xanthomonas

PASEFE DD, 0D ITTD
4. %

Question Number : 29 Question Id : 5500532269 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A) : Beggiotoa changes its shape.
Reason (R) : Some bacteria change their shapes depending upon the type of

environment.

dgae  (4): Bidre 3D Erard) Ard§ .
S0 (R) 1 oojddmd) w §3) wé&oﬂrw I PP Aty Lot

GOLQ .
Options :
Both A and R are correct and R is the correct explanation of A.

A 08030 R 28CHD H08ain R 98 A £ 2600 Jdde.

1. %

Both A and R are correct but R 1s not the correct explanation of A.

- A 508050 R 2801 208030 R 0938 A £ 2861 S8 s°eh.

A is correct but R is incoirrect

A 2BALRE 5°A R 3
3. % -

A 1s mcorrect but R 1s correct.

A 32 D R 28008,
4. %

Question Number : 30 Question Id : 5500532270 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): Loss or gain of a segment of DNA results in alteration in
chromosomes

Reason (R) : Alterations in chromosomes do not result in abnormalities

8o (A) : DNA & p8ir6eo S wder b sud Sardd & e
i)dbc;@ﬂcm

5000 (R) : §ardoy o Sy DBSor e i)dbdom

Options :

Both A and R are correct and R 1s the correct explanation of A.

. A H08a30 R 0 Godor DB, 6030 R 898008 AL 28 Ddde.
1.

Both A and R are correct but R 1s not the correct explanation of A.

A H08030 R a0 Bokor 2T, 5°Q R 098008 AL D0 Ddded 5°¢0.
2. %

A 1s correct but R 1s incorrect.

A D8RS 57 R S,
3, o BEREEEE ")

A 1s mcorrect but R 1s correct.

L« A Oy 5D R 2538,

Question Number : 31 Question Id : 5500532271 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Genotype of dominant trait of plant can be determined by crossing F; hybrid with the
parent and the genotypic ratio is

Fi 2080°0) 6 238" 20860 BRRYYE P vEae e 2 draPd)
f:')gdca éoﬁbrﬁ)& A08030 2RV(ArD X):.‘qﬁ
Options:

Homozygous dominant trait, 2 : 1

Qoo @ mﬁjﬁgé eso, 2: 1

Homozvgous dominant trait, 1 : 1

Qoo aai:vgé wgeo, 1:1

Homozygous recessive trait, 1 : 1

*rba.‘uojnriéa esochdeh ergeso, 1: 1
3. ¢ o

Homozygous recessive trait, all are same

‘rb;ﬁminﬁéa @o@%@ e)$.£90, E"’:}c} DAFDHo.

Question Number : 32 Question Id : 5500532272 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At the end of translation the release factor binds to this codon to complete
polypeptide from the ribosome.

e tio DG DB %0 & 0B 20308 LS Ge5'V'D Qo) )
26 R oo Batosd



Options :

L »sUAA
,« UUA
o x UAC

,x UCA

Question Number : 33 Question Id : 5500532273 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Give the nucleotide sequence in the mRNA for this sequence of amino acids given
below

306 Beodadd R0 e H60 $5rD3 dowodod) AMEErHE © S

Q) BuRdoC..
Met — Phe — Arg— Gly -Phe

Options :

. »AUG-UUU - CGC — GGC — UUC.
, « AUG-UUC - CUU - GGC - UUC.
, ®x AUG—UUU —CUA — CCA —UUA.

4 » AUG-UUA - CUA - CCG - UUG.



Question Number : 34 Question Id : 5500532274 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

These are having the ability to replicate within the bacterial cell, independent of
control of chromosomal DNA.

So¢sé DNA bbb’ Gsoor odorr ar30a8r 008" DI%O wdRVED
33 D63 $DA otnod
Options :
plasmids and virus
o o) ¢ H0Bok DB e
plasmids and bacteria

o) 6> o8Ok erSBair
2. % ’ .

plasmids and bacteriophage

D) &> 0B erSB AT
3. ¢

nucleus and plasmids

Sog S0 B080% F) ED
4, %
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Time:0



Identify the correct combination.

A. Agrobacterium tumifaciens — vector for transgenic plant.

B. Escherichia coli — selectable marker.

C. Thermus aquaticus — Taq polymerase.

D. Bacillus thuringiensis — BT. Toxin.

28GR TodgwRw 8oy,

A. eff ergbabd ey HVADS) 20§ DBHES J0g) OD TEPEA.
B. J% Jaatr 8T - Joos rfJo‘.’u{:Sg 55°6) 6.

C. 3G 536 - Taq FDd%.

D. erdem cﬁ)dﬂ&ﬂﬂi}n‘b —-BT. é.?é:lé.
Options :

1.+ABD
2 s ABC
; s ABCD

, » BCD
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Time:0



The mtroduction of nematode specific genes into host using agrobacterium vectors
causes the following action.

1. Formation of dsRNA.
IL. Production of sense and antisense RNAs 1 the host cells.
III. RNA intermediate not formed.

IV. Silencing of specific mRNA of the nematode.

ol ar36aby TITVRNArAD) e E D3R 2R BB &S
ORE bég:ﬁt.:p_‘);)cin & 300 RUIUVE VIV

L. dsRNA D con.

1. eddow $erg 2Ry, alrotiody RNA &80,

IIT. RNA Socifidoo J6\¢5eh.

IV. ditreS 6 D32 mRNA 289y Sebecord,
Options :

|« ILIL IV

, % LILIII

2w LILIV

4 % LIHLIV
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Choose the wrong pair corresponding to selection of transformed cells
308 T8’ 085GV BB Srrw) H6E0 L H020800) P wSR HB0LYHL
Options :
BamH I site — tetracycline resistance

. BamHID3%0 — 8&rpsd DB ¢55es

B galactosidase — inactivation of the enzyme

TOSDES — JoFZod Day,0lrdd) £
ey a— o (1_’,
2. % ~—

Ampicillin resistance — selectable marker

009D TGS — S0 Babese &H5°6). 6
3. %

Insertional inactivation — Development of blue color

RO\GHS AT IDNS — VY HPo WDB)E Bokow

Question Number : 38 Question Id : 5500532278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Ganga action plan in India is implemented by
2SR B0eS” Kot E“U“étﬁﬁﬁ RETLPSAD 9080 aémm:};}u&.
Options :
Ministry of irrigation.

DB EB0 B00BS TD.

1. %



Indian Agriculture Research Institute.

2P GO0 :_)?S;sa«»om HBF BB R03.
2. ®

Village Industries Comimission.

a0 HDOBO SR,

Ministry of Environment and Forests.

EJU"?SSf)dE‘E 508050 983D mo@ejﬁ T°D.
4.9
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Time:0

Assertion (A): Trichoderma polysporum produces cyclosporin A, immuno
suppressive agents.

Reason (R): It 1s used in organ transplant patients.

DNydo (A):  GEGoY FITF) 00, PET\6D A wid B AL wrdotio sesor
God DO 68y9 datoro.

6o (R):  wdahd Arbyd 200 Brbod 96 eddiriem
Options :
Both A and R are correct and R is the correct explanation of A.

- A H8a3n R en Gokor 23D, 08a3n R e9dudd AL 23R Ddde.



Both A and R are correct but R 1s not the correct explanation of A.

A 8030 R 20 Gokor 203, 570 R k00 AL 28R D08 5.

A 15 correct but R 1s incorrect.

A 2356 5D R &2y,

A 1s mcorrect but R 1s correct.

A 829y 59 R 0536

Question Number : 40 Question Id : 5500532280 Display Question Number : Yes Is Question
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Time: 0
Among the following mention diseases that have existed i the past but now showing
incidence and in new geographical areas.
306 a8 &0c. YPOLo wend 008 &od 09y WYY e 8¢ S8k
208 198 dTod SA0D woky TV SRY.
Options :
Re-emerging diseases : Tuberculosis
- m% 2O DE O 1 b 53566%5
Emerging diseases : Cholera

SETTeRD oL DE T(® 1 SoTT
2. %



Super emerging Diseases : SARS

DHBSorr 2008 DE T4 : anab

Emerging diseases : Dengue fever

SETQVRD LoD DE TG : Goriry 280
4. % - =
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The incorrect statement for subspecies
602" BS 020G VBB 57 T°(0
Options :
They are capable of interbreeding with other species

. 0 RS 23 DS D200 2EDELVEIS
1.4



They are geographically isolated population of species.

93 FHPSorr DDHES DoAD 2B
2. %

They show minor variations from parent population

0D AL BTLTD ROy DTG AFIHRD
3. S

They are new species in making

29 SAITEPHBVD) S wrdoen
4. %

Question Number : 42 Question Id : 5500532282 Display Question Number : Yes Is Question
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Time: 0
The equation which explains relation of species — area on logarithmic scale

2000 — DNGY DoWOGANR VoBLATH ), L0p Arded Y60
Options :

logS=C+logZA
1.% F .
ZlyingS:EDgC+Zlog A

logS=logC+log Z
3.% °F . .

logS=C+ Z logA
4, %



Question Number : 43 Question Id : 5500532283 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Life span of blood platelets is

BEHO350 2 STBD

Options :
5 —9 days
@ 5= Sazen
1 —2 days

- 1 —2 8aren

20 — 40 days

20 — 40 Saren
3. %
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Assertion (A): The activated osteoblasts start deposition of mineral material to join
fractured bone

Reason (R): The major part of inorganic matter of bone is collagen

AIydo (A): D80 BB BRI e mﬁabwgﬂom 20 Boced ddwd

90008,
5880 (R): e.ﬂ?gefiﬁi) 9 ©86d Do Srad

Options :
Both A and R are correct and R is the correct explanation of A.

A H08a30 R e Godar 2GR, 08adw R e9dwdd A DT Dddes.

1. %

Both A and R are correct but R is not the correct explanation of A.

A 50050 R e Godior 28D, 5°Q R 292008 A% D8R Dd8e 5°¢0.
2. #

A 1s correct but R 1s incoirect.

, , A RDRE T R Sy,

A 1s incorrect but R 1s coirect.

o« A O SO R 2536,
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Choose the correct statement among the following
& 308 To8eS” DT SrjaEd DBocan
Options :
A group of cell bodies in the central nervous system is called nucleus

. Sog & B0 €0l S DATFON ot wotrd
1. v 1 3

A group of cell bodies in peripheral nervous system is called nucleus

DBBODH e DBV G0l e VBTV SogSo Wotrdd

A group of cell bodies in the central nervous system is called ganglion

. S0¢8 TPADDVG G0l B VAAPFVR TE0E WOLrd

Group of axon in peripheral nervous system is called tracts

folnlesd m&s’a?gsﬁfgeﬁe g0l J035°8 DATHVR TALTFTL) Wotrdd

Question Number : 46 Question Id : 5500532286 Display Question Number : Yes Is Question
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Time: 0
Aristotle’s lantern is present in
B OS eroddth HIS” PHocoad
Options :

Echinoidea

| R Felebblaton by



Holothuroidea

7S doorand asr

Asteroidea

f;}'{_gmomciod?
3, %

Ophiuroidea

200030 T0VE O3
4. %
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Match the following body parts of earthworm with respect to their segments

Part Segments
A. Gizzard 4T 585 "
B. Pharyngeal Nephredia if. 17% & 19™
C. Nerve ring iii. 8 & 9"
D. Accessory glands iv, 31 & 4"

TAFANS B o) T80 DoATOR) 98805 BHEAD

et DoGTRD
A. ©od62660 A"
B. (R 57,00 i 17 1
C. & Hooko i 80"
D. 09508306 (506 iv. 3 4%
Options :

L Adl. Bi  Ciii. Div
Aii. Biv. Ci  Diii
2. %

, «Aiii, Biv. Ci Dii

Lo Ajil. Bi Civ. Dii

Question Number : 48 Question Id : 5500532288 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Assertion (A): Hemichordata 1s now placed as separate phylum under

non-chordata.

Reason (R): The stomochord of these animals was once believed to be the

notochord.
Q3ydo (A): b&?é&?m LN g3z’ ws Qé}gé ey noeb

sedisao (R): & £9065°D gws"g & 28\ Dydodorr ardomr.
Options :

Both A and R are correct and R is the correct explanation of A.

A 26030 R e Godtr 2882, 08030 R 908 AL D8 DH8¢e.

1. &

Both A and R are correct but R is not the correct explanation of A.
L v A 080 R e Sottr 28D, 52 R 9d0dd AL 288 D8 s5°e.
A is correct but R is incorrect.

L« APPSR Sy

A 1s incorrect but R 1s correct.

L« A Sy SR 2T,

Question Number : 49 Question Id : 5500532289 Display Question Number : Yes Is Question
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Time:0

The heart receives only deoxygenated blood in
& 308 1) 5 YOS (ot S50 sad Gird 83 DA dotwod
Options :

Aves

1 % O8O

Mammals
5> % L£8T7en
Fishes

3 @ DO
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A) : Amphibians remained as imperfect group
Reason (R) : Although, Amphibians invaded land, they could not adapt completely

to terrestrial life.

A0 (A) : EHODSTD 28 WAORFE VPO ADY asraw.
5660 (R) : £30050°e0 S0 Dd0sto Dcden ::ggmbe%%, QPO s

2TV OTLD DETE.
Options :

Both A and R are true and R is the correct explanation of A.

A 8030 R Botir 280D, 805 R e9sodd A £ 280 Dddes.
1.4

Both A and R are true and R is not the correct explanation of A.

| A 208010 R Gotr 2083, 50 R emidd A £ 005 D36 S

A is true and R is wrong.

, % ARDBIB A R DJHE 7.

A i1s wrong and R is true.

, x A D300 2 520 R 23H8.
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Identify the group in which sinus venosus is present but conus arteriosus is absent,

& 308 TS’ HoGE €0, B F020) FHodd B
Options :
Amphibia

- I=ralenbinienlDs!

Reptilia
475 - &3"&1.'}

Mammals

4 % £8oen

Question Number : 52 Question Id : 5500532292 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Slowest and most primitive type of locomotion in Protozoan is

TEE DD 0 S D0 BD, TGS gvm; B0

Options :

Flagellar movement.

ST R3S HdwAo.

1. %



Amoeboid locomotion.

IETONE K00,
2.

Ciliary locomotiomn.

39saine Hadvdo.
3. ®

Undular movements.

G0 Hadodo.
4. %

Question Number : 53 Question Id : 5500532293 Display Question Number : Yes Is Question
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Time: 0
Choose the correct statement regarding ciliary movement
350 IS Doerodow) DB voBo
Options :

Longitudinal cilia exhibit synchronous movement.

Qesh SHRT' 3Dgew D¢ 5D Lo ATV D6 T oW,

1. &

Transverse cilia exhibit metachronous movement.

s SRS 305w YD vobag T D) VAT,



Flagellar locomotion is faster than ciliary locomotion.

, o STBEV0 3T ALTDZ0E D BoSROIS

Cilia bring out the movement of either the organism or the surrounding fluid.

" 3050 £ 69D o e 6d) A S84 drer HEHIow.

Question Number : 54 Question Id : 5500532294 Display Question Number : Yes Is Question
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Time: 0
The following is comparable to a professional dinner guest
& 208 TAS° AAD Docy Hado AT rAod BB Ve dd
Options :
Competitive organism

@&@@5 29

Comimensal

DS 2

Parasite

bwéleﬁﬁ

3. ¢
Predator

DEBES 2D
4. %



Question Number : 55 Question Id : 5500532295 Display Question Number : Yes Is Question
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Time:0

Identify the correct option
Statement — I : Excessive dosage of cocaine causes hallucinations

Statement — II: Intake of cocaine does not cause euphoria

RO DIYFAY Dot
) — 1 : &S AT S8 9) £33 2rods s°6rdB08.

] — I 53 &grdS $8Aocsc.
Options :

Statement I is correct and II is wrong.

rfa] 1 280G Sodoin arjaf I 23H6G 5760
1. 5 A

Statement I is wrong and II is correct.

35@51 D0HE 5P 57 S I1 2886
2. % B -

Statements I and II are wrong.

aeganfen I odadn IT Godtr 2D 57
3. %

Statements I and II are correct.

4w YRR I 20803 II ol DD
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Time:0
Hypertrophy of RBC and spleenomegaly are the symptoms of
64 SETR0 DR DKo BBA iTo DOMGY & T6 VLD
Options:

Malaria

| v T

Amoebiasis
- e DASTHD
Filariasis

Slolovb oI}

1%

Typhoid
Sroné

Lo
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Assertion (A): Ascaris lumbricoides 1s a facultative anaerobe.

Reason (R): Ascaris performs either aerobic or anaerobic respiration depending on
availability of oxygen.

Ao (A) : 7] 80 L0odand PdE v TASr £,
6ta0 (R) : espasnd 0@ ol @5‘1663 T8 GI BT e RSO

22008 .

Options :

Both A and R are true and R is the correct explanation of A.

. A 558030 R Bodlor 2823, 086030 R e9dddd A £ 283 JdHdes.
1. il

Both A and R are true and R 1s not the correct explanation of A.

_ A 208080 R Bocr 0393, 5" R ex0n8 A £ 258 D6t s°e.
2.

A is true and R is false.

, » A RTR6, R 0306 560,

A 1s false and R i1s true.

4« ARTIO 560, R 2526
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Time:0



Choose the correct option

Column -1 Column —IT

A. Daphnia 1. Basking

B. Desert Lizard i1. Blubber

C. Aquatic mammals ii1. Cyclomorphosis

D. Sea gulls iv. Eliminates salts through nostril

ROAHD AR D) Tt

D8 —1 o8 — 11
£ &

A. mi:io:’w i. w?aaToﬁ
B. Jz8 22 ii. 82936
C. da0G S8men i, Zave ErHd30H
) N V. RS TEL TO 0b6 DAY
Options :
1% A—ii,B—iii,C—iv,D-1i

, x A—iii, B—ii, C—iD—iv

3 ¢ f—m,B—1, C—11, D—1v

4 x A—ili.B—i, C—iv.D—ii
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Example of anadromous migration 1s
RITPTR AR VDL &Tirdes
Options :
Salmon and Hilsa
TS H8atw ey
1.¢
Anguilla
5, » H0ASET
Catla Catla
Sér Ser
3. %
Labeo
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The factors favorable for increase of binding affinity of oxygen with haemoglobin

@300 & TArHAD & &d) wotsd T D) DODHHLD BRITOD T

)

Options :

. o highp® - lowp™: - high po

Oa

5> % ]DWP ,]ligh]}cog‘ Teika PH



. highp® ~highp®:. low p°

, o low p% lowp®®, high p"

Question Number : 61 Question Id : 5500532301 Display Question Number : Yes Is Question
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Time:0

The chylomicrons are broken down to fatty acids and glycerol by the action of the
enzyme

'
e
i o e

& g B6) S FT'TS e FYQ Bhren, HHTES M o
Options :

Steapsin

T

- QﬁJ’“q}:}«%
Lipoprotein lipase

T TS g0

2. %

Intestinal lipase

€205 THE
3. #

Gastric lipase

TS Sad
4.% =



Question Number : 62 Question Id : 5500532302 Display Question Number : Yes Is Question
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Time: 0
Function of aldosteron 1s
2365 oD g, D&

Ga B2
Options :

Secretion of water and NH;3 mto urine

Q> 28050 R a3 Surgos’s pdodien Babo

1. %

Secretion of H and K™ ions into urine
TEED (H) dvdatn Teracho (K) 0oird vk argos’s Hdodekn

5 % oo

Stimulation of reabsorption of HCO; from urine

L . Dargo dooc HCO; 3% deasdy docdecto.

Stimulation of reabsorption of Na" and water from renal tubules.

, s Fo T9do Fdabo (Na') S08ain i 5 aes Doio.

Question Number : 63 Question Id : 5500532303 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

H & :
p of urine

FebbLla Tobb! pH DD



Options :

6.0
, % 80

L« 20

4 % 4.0

Question Number : 64 Question Id : 5500532304 Display Question Number : Yes Is Question
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Time: 0
Assertion (A): The alkaline cerebrospinal fluid is recycled four times per day.

Reason (R): Recycling of cerebrospinal fluid facilitates the removal of metabolites
and foxins from brain,

Ao (4) : B0 e oy MBS0 9B By evth FE )dxsSao
oA,

60 (R) : mi’g%;amgbo DRS00 HOP B &8\ 0, R DT

G Aow) Gufocieacd.
Options :

Both A and R are correct and R 1s the correct explanation of A.

- A 08030 R a0 oo 28R, 080 R e9d0d8 AL D8 dddes.



Both A and R are correct but R is not the correct explanation of A.

A 08050 R e Gocr 939, 579 R e0dndd A 285 iddes 5.

A 1s correct but R is incoirect.

A %838 570 R 82,

A 1is incorrect but R 1s correct,

A 82y 5 R 2838
4. %
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Time:0



Identify the correct matches

Column - I Column —I1I
A. Tetany i. Autoimmune disorder
B. Mvasthenia gravis ii. Decreased bone mass
C. Gout iii. Rapid muscle spasms
D. Osteoporosis iv. Accumulation of uric acid in joints

2OADS o Botdod:
088 -1 088 — 11
& L]
A. S0 i. oo BHIT eSS ot

B. éoatiff’grﬁo:’m TR il ddwse Froge SAY Dk

C. 785 iii. So&orees” DA 268 DoSTren
D. QBrI B2 iv. S¢,8° 368 w0 Boddo erde
Options :

 A—iv.B—iii,C —ii. D —i
, w e Bl O i, D=1V
A—iii,B—i,C—ii,D-iv

3. ®

4 vA-11.B-1, C—-1v.D—-1i
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Time:0
B - Cells are stimulated to proliferate and differentiate into memory cells by
B - g ) S Dy Dafad bt DBOm Sod 2y Swrearr SrdRD.
Options :
Complement proteins
HBPES DL
Natural killer cells
5 % PRI T0DS SEIRD
Interleukins
Q085 V(SO e
3.¢
Interferons

- @o86 DT e
4, %
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Identify the correct option
Statement—I (SI) — Hypo secretion of Cortisol results in low blood pressure.

Statement — II (SII) — Elevated levels of Cortisol leads to hyperglycemia

RBED Bu)yEA) Mok
TR~ 1 (SI) —5FFS Fddw 3595 TBo HD Bgakdo SS08.
{25 — 11 (STT) - 36 Faw B0 S0 6 GNP T8 Salwiy.

Options :

Statement - I and Statement — IT are correct.

T - I Hodasn T°0f — II ot DBDH.
1.+ 2

Statement - I is wrong and Statement — II 1s correct.

T - I 2GS 5080 Hodaiw SHEN I 2858.
2. % =. 5

Statement - I is correct and Statement — II 15 wrong.

orqes - 1086 208k ojay - I HBHG 6.
3.

Statement - I and Statement — IT are wrong.

s3°ge0f - I s00as agadg - II o B0 S5°e).
4. %
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The presence of HIV 1n the blood of infected person cannot be detected during
HIV dogdoe ;5?5§ 68408" R &S HBIT sPRHW
Options :
Window period
- (e 8. ;55;5&
Incubation period

2 % ﬁut‘f}ﬁ STR0

Prepatent period
- 2583085 ST0
Refractory period

G STT 55353’3@
4. % -
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Time:0

The hormone that increases blood calcium levels by promoting absorption of Ca™
from gastro intestinal tract

& ) 26708 ¥ dvod Sabo Fe HGded 8ol Ca’” Pand

0850 GRS

Options :

1. %



Thyroxin

Calcitonin

“ SﬂﬁbéSﬁf\’Jé

Calcitriol

50y &S
3.9

Catecholamines

- 5SRO0 e
4. % =
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Match the following events during pregnancy with time

ListI List I
A. End of 4 weeks i) Developments of limbs & limb digits
B. End of 8 weeks i1) Hair on body & separation of eyelids
C. End of 12 weeks i11) Formation of heart
D. End of 24 weeks iv) Formation of external genital organs

ﬁ%c}“t‘.‘rmﬁ'ﬁ D 2000P0) DADANS RSHABEW.

il ol | e 11
A 4 FT0 Qb6 i) evorren are) DYy 5B Bocoty
B. 8 070 563 if) 3605 Baren o tow, S8IBNW
RlePolale
C. 12 o0 Db if) s7)catho D\oB08
D. 24 oo DH6D iV) &) BRRTOTR DE1EOb
Options :

.« A—iii B—i C-ii D-iv
A-iii B-i C—iv D-ii

2. &

3 % A=m B—un C=1v DI)—i

, x A—iii B—iv C—ii D—i

Question Number : 71 Question Id : 5500532311 Display Question Number : Yes Is Question
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Time:0

Find out the correct transportation of sperm cells in male reproductive system
QDO DANS b@géﬁ D Do SR VY], SeP dHS0E?
Options :

Seminiferous tubules - Rete testes - Vasa efferentia — Epididymis - Vas deferens -
Ejaculatory duct — Urethra

%o%f’@“:,ﬂﬁé e — 863 Sy 0 ~B08 TPSen - DDGEDN - BF TS ~

QO T ~ Yo
1. %

Seminiferous tubules - Rete testes — Epididymis — Vas deferens — Utrethra —
Ejaculatory duct

aog?@obas T ~ 85 200 ~ QMEEDR - 28 TS - Y% — R ON

PPe b))

2. %
Seminiferous tubules — Vas deferens — Rete testes — Urethra — Ejaculatory duct
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In surrogacy. the part provided by the woman for the development of some other
person’s embryo until full development is

) Ardded’ ) 88 3o &' & ertiod’ ad6 3 ALY, Sodko MoPYorT
ABHES w5 3o $8 200l
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Lack of clotting factor — VIII causes

8 5780 —VIII &S00 D Dozidod (&
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Colour blindness
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Match the following

Tvpe Examples
A XX-XO 1) Birds, Reptiles
B. XX-XY i) Moths. Few butterflies
C.Z0O-ZZ iii1) Grasshoppers. Cockroaches
D.ZW-Z7 iv) Drosophila

S0& TP 2SDERVAD

ggan GO0
A XX-X0 i) Dgoe, DO e
B. XX-XY if) S8 e, £y dTE' Dewgen
¢ ZQAT iiif) octesen, e5"Gogen
D.ZW-ZZ iv) EJder
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o A-iii B-ii C-ivD-i
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Question Number : 75 Question Id : 5500532315 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
In humans. sex is determined at the time of

ArdHHees” Do Dgedes & 2005:20065° 28OS0
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Gametogenesis
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Reciprocal translocation of chromosomal pieces between 9 & 22 chromosomes
leads to

9, 22 Eardy grre 6,8 gwoe:’sd Aoy S0 gerd 4B
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Cri-du-chat syndrome

5~ ¢ — o8 D&

Cystic fibrosis

§ e300
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Sickle cell anemia
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Chronic Myelogenous leukemia
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Choose the mncorrect statements regarding Hardy — Weinberg equilibrium.
A. There should be no migration

B. There should be differential reproductive success

C. Population should be large without random mating.

D. Mutations should not occur

ﬁg ~ DOV eo§ Argho Doeobor) VOSR m}gm}gv@ 2otS Ao,
A e dd Terddd
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Arrange the following in sequence in relation to the origin of living organisms
A. Chaemo — autotrophs

B. Oxygenic photo autotrophs

C. Anaerobic heterotrophs

D. Anoxygenic photo — autotrophs

D0 AEYEETAS DowoBod) $08 B HHR Sh0d” wddryHw.
A, 830 ooz

B. eoaroin D605
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Match the following Biomedical techniques and their uses

A. X-ray imaging 1) Density of bones in Osteoporosis

B. CAT Scan i1) Diagnosis of breast, cervical cancers

C. MRI Scan iii) Pneumonia, Tuberculosis

D. PET Scan iv) Diagnosis of pathological conditions of
body organs

£ D] 0888 HESW, T8 EVAFMTVR BSHEENED.

Al | 2o 11

A. X- $6ro adosoh i) sRdrd R0 & ddwge Fodd Sobto
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Propolis 1s used by honey bee for
B2 TVOD K0 AIS edHBrAcL 0t
Options :
Treatment of superficial burns
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Treatment of inflammation
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Treatment of arthritis
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Sealing the cracks of comb
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i
2mg

Sht’e
gravity, ‘m’ is the mass, ‘[’ s the length, ‘b’ 1s the breadth, ‘t’ is the thickness and ‘¢’
is the elongation, then the value of x is

If Young's modules of elasticity is Y = . where ‘g’ is the acceleration due to

2mg[*
Sht’e
ey, ‘' dootso Sootw ‘e’ Frdde) 90nd X Dend

ahoh heago, Y = 936 “g’ D S(Beso, W' $(0°3, T Jedy, b’
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The distance s (in m) travelled by a particle is given by the expression 4s = St48t,
here tis time in seconds. The acceleration of the particle is

w8 $m0 POIFTodd drdo s (m &) & 45 = 5481 Hsdmed SigocsREs,
9.6 LRSS, &8 S0 g S(Bero

Options :
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If the maximum range of a projectile is R. then the maximum height reached by the
projectile 1s

w8 PEDZ0 dng), ABR () R eowd pEDZ 38 182 I8
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The angle between two vectors (1 + |) and (] + L) 18

e oy
.

Boct> &% (i+]) 8ok (j+k) © ey Seso
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A Dall of mass 50 g moving with a velocity of 10 ms™ i hit by a bat and the ball
retraces back with a velocity of 20 ms™. Then the impulse on the bat is

503 50 g tfo) 20 8208 10 ms” DS SO a8 et B Seac, 20 s
2008 SOV ArTedd (308 38 $PeIA. wawd e ePfeng 30D
OAfALTN
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The ratio of inertial mass to the gravitational mass of a body is

WS DAY 1A BOJ0°F 20008 (DS BO(T°FV 06 DQJQ
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The force, F= [2}{2 +5%+ 4] Nis acting on a body. If the body moves from -1 m to
+1m in the direction of force, then the work done by the force

w5 DR F :('2};2 +5X—.4]N 800 DIV 8. & HAYY BV 6% -1 m

00 +1m £ €89, 2860 1
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The power of an engine which draws 1000 kg of water from a well of depth 9 m in
one minute is

(Acceleration due to gravity = 10 ms?)

9 m &' i e dooc 1 Azed 1000 kg G3oe3 o) A SE oo
ﬂ“mggo

(ot S6mo =10ms”)

Options:

- 1.5 kW

1.5 W
s % 150W
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A disc starts rotating from rest with constant acceleration and attains angular velocity
of 20 rad s~ 1n 5 seconds. The total angular displacement during this iterval is

fgé é&dméﬁ NEND f’éeﬂ’a R0c: oo AL DB w8 AT 5 2%ochvd’

20 1ad 5" Echh Srd) Todw, & 50 J36S" Awgo Eriak & Fodo
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Two particles of masses 2 g and 4 g are separated by a distance of 3 m. The moment
of inertia of the system of the two particles about an axis passing through the centre
of mass of the system of the particles and perpendicular to the line joining the two
particles 1s

2 g odak 4 g oo o Soth $ren 3 1 Gl S Bobed &) oW,
Gocty Sy 8B S voware S S% G072 Sogo thorr Yo wgo Dlorr
i Sltus aa.cie:sos %0
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3 2

5 12x 10" kgm
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3 % 6x 10~ kg m*

4 % 30X 10” kg m’
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A body executes simple harmonic motion under the action of a force F; with a
frequency n; and the same body executes simple harmonic motion under the action of
another force F; with a frequency mp. If both the forces F; and F, act on the body
simultaneously in the same direction, the frequency of oscillations of the body is

Fi 0000 9 S0hod) S08 8 S 1y 33":1)5‘!.’;_)#350&6 269 o8 oo
Sabocyd) &, ed S Fr oo 5 Sakob 0 1y Tl 8 26
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A block A of mass 1.6 kg kept on a horizontal surface is connected to one end of a
horizontal spring whose other end s fixed to a rigid vertical wall. The spring and
block A system is executing simple harmonic motion with an amplitude of 10 cm.
Another block B of mass 0.9 kg is kept on the block A when block A is passing
through its equilibrium position. The amplitude of oscillation of the system of
spring, block A and block B is

w8 80 DAToSS B0 P oD 1.6 kg @dTed do w8 B w8 £O%
RA7086 0)0f w8 D56 $ D)of Bocks) DSCR 8 6P §Sx vow e
Dtotredd, é)oﬁ B0k ) ;t 9192 10 cm Soased 2008 a8 o) S
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A hole s drilled from one end to other end of earth and an object of mass ‘m’ is
dropped down the hole. The gravitational force acting on the object as a function of

distance (1 ) of the object from the center of earth is

(Mass of earth = M, Radius of earth =R and consider uniform density of earth)

FPd 28 D58 0d 9 D56 308 Gogoe’ m T3 o w8 SnPd
S08S8 &ECN, &8 DY P DI S B0, & SWY g, @rd
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A metal wire breaks when a tensile force of 100 N is applied perpendicular to each
end. If the diameter of the wire is 2 mm, the breaking stress of the wire 1
100N &oe a0 565 2,8 Off DB\¢580 Boctady. & Brf G0y, TS 2 mm

o, &8 Off g, M6 HSeavo
Options :
10°

—— Pa
1. T

2x10°

n
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- 100 = Pa

, » 10" Pa
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A liquid of density 800 kgm'3 is used instead of mercury, in the Torricelli barometer.
The height of the liquid column i

(Density of mercury = 13.6X 10° kgm’3 and atmospheric pressure = 76 cm of Hg)
er820 erdDAS” F¢iho achrorr 800 kem™ ol o aé Gdo &

GO0 & (5 D08 TS I

(P60 rogses = 13.6%10° kem® 80k TErd8m o = 76 cm of He)
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1 % 13.2m
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.2
A 567 W bulb has a tungsten filament of length 40 cm and radius — mm. If the
n

radiation of filament is 81% of that of a perfect black body. then the temperature of
filament is

(Stefan’s constant, & =3.67x10° WK ™)

2

28 567 W eaeny®’ 40 cm ey — mm SRrEw o) s £ DS o0t
I $
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If AQ 1s amount of heat supplied and AW is the work done by the gas at constant
pressure, then the ratio of AQ and AW is

(y — specific heats ratio of the gas)

AQ REIT B &0 fody AW f‘gd oed0 O TARY WA DR owd, AQ
So6oko AW a3og). G

(7 -0 sk Ayd)
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A Carnot’s engine can have 100% efficiency if the temperature of the sink is

28 50 aogdo aR0g), (59 100% wond, 3dersato g, el'td
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A gas is taken through the cycle A=B—C—A as shown in the figure. The net work
done by the gas after one cycle is

8 oY DR’ 5P Dforr A—B—C—A tdah drdosh 6o sced. w8
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The number of rotational degrees of freedom of a diatomic molecule 1s
w8 B DEATES EH o e PER S0
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A wave is reflected from a rigid support. The change in phase on reflection will be

S Bborio wiS B)ER FBTE) I DTHGT0 HeBVB. woddwD $BAY ¢3
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The colour which has the highest critical angle of incidence is

& S08 TS 5 (LRSI a0 Ko Do
Options :
Violet
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Red

Green
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For a wavelength 670 nm of light coming from a galaxy moving with velocity V",

the observed wavelength is 670.7 nm. The value of V" is

V Stfod dchrndiony ws A5Y dvodeo &vod) 670 nm oS 80 o 5703

DLVHEE08. 527 18I Sdofd G0 670.7 . o o atfo V'
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A conducting sphere of radius 5 cm has an unknown charge. The electric field at
10 cm from the centre of the sphere is 1.8+10° NC™. The net charge on the sphere s

5 e o o w8 DofS s v ¢ §odd 0 &od. Ao oo Mod
10 cm 6r6o8” DS £ 630 1.8410°NC e o 06 dodo esidto
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The figure shows a part of a circuit. The voltage across A and B is 4V. Then the
voltages across 2 uF and 1.5 pF are respectively

24 H000 59 Sodh erio D0 & Srnwddd. A, B o 06§ Sﬁga 4V, 900d

2 4iF, 15 JF © oo S8 Densden Sdarr
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Two equipotential surfaces A and B are separated by a distance r as shown in figure.
The work done in moving a charge —q from A to B is

(&. - permittivity of free space)
A. B &0 Gotd 20 #8) deren T Erdods” Dhod” draditn D) HOSRGD.
DAAETI%0 (| 0 A Ao B S 260050 DADHVND B
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In the given circuit, the potential difference between B and D is zero. Then the value
of the current I 1s

a0y® doabed’ B, D & ducs) TEI Stso 8y wand Do o I
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In the given circuit, if the cell delivers maximum power to the circuit. then value of
Ris

D S0, LA SeairEds (162 Svmgvébl HEOT S0dS R dend

R R
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In a galvanometer, when the number of turns N becomes 2N and resistance R
becomes doubled, then

noe.mﬁhmaese, o8 Hoa N, 2N e oBakn Ao R 3o
@wéxggbc:o,

Options :



current sensitivity remains unchanged and voltage sensitivity doubles.
QAN DI ) B0 ArGET Gotwod HoBakd 3 92 200 880 B0
- 093008,
current sensitivity and voltage sensitivity remain unchanged.
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current sensitivity doubles and voltage sensitivity remain unchanged.
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current sensitivity and voltage sensitivity doubles.
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Among the following, the quantity that is termed as gyro magnetic ratio is

(m. — mass of electron, e — charge of electron)
S08 TOS BE waHF) 08 ANG wHA
(e — DO BH(O73. € — JVFTR DETFDFH0)
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Core of electromagnets are made of materials which have the properties
D) 0T £6 errrod) Soird 9 DT VL
Options :
low permeability and high retentivity
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low permeability and low retentivity
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The ratio of the flux-linkage to current is

DT ET WOV 080D IED DI DD
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The ac current in a circuit is given by 3 sin(ot) ampere. The fime taken by the

current to drop from rms value to zero 1s
w8 S0’ ac DA Daaro 3 sin(ot) ampere @b&m&é&. eVl

Q0 1S DV AVod 3o b D ddato
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1 % 20

> v 40

Question Number : 114 Question Id : 5500532354 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The electric field of an electromagnetic wave propagating i vacuum is given by

: 8 e .
E=35cos (kx—4.5x 10"t) where E, x and t are in V™, m and s respectively. The
magnitude of the propagation vector is

BrRjordgos” DUSTED) W (a0 Sorfo Y, DS Edo
E=35cos (kx-4.5x 10° ) ™ 2S@cod, @S‘gjcﬁ E. X 080k t ew ddoare Vi,
m 208080 § &' 0. Y B% HBArE0

Options :



—
1% 0.5m

5 % 1m™

3 ¢ L3 m™

4 % 2 m’

Question Number : 115 Question Id : 5500532355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The wavelength of a photon is equal to the de Broglie wavelength of a particle
moving with a speed of 75% of the speed of light in vacuum. The ratio of the
kinetic energy of the particle and the energy of the photon is

28 Serdy aog), dorf 860, Hrady airdgods” 508 SAS" 75% TéS

2§
OIPEoioR) w8 Sl g Cerod S601BT A3 DArAAY. S
Qg 0% 333 bt Terdy oiwg) #33 to Ayd
Options :
1 % 11
2.v 38
3 % 13



Question Number : 116 Question Id : 5500532356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The ratio of the shortest and the longest wavelengths observed in all the five spectral
series of hydrogen spectrum is

PGS S00S" ddo otk Sk FWE Aocswd TN Lak WY
eﬁdoﬁ@gév UANY

Options:

1_3‘55136

[

(8]
o
=

o % 11:600

11:900

Question Number : 117 Question Id : 5500532357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The working principle of atom bomb

eIER) £T°081) GV, DR BT AFrGHW

Options :

nuclear fusion

|« 088 20830



nuclear fission

gﬂ@ﬁ :}a;}@
2.9 G

jonization

5 x @060

annihilation

4 % oo Bodeo

Question Number : 118 Question Id : 5500532358 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a transistor connected in CE configuration, the emitter current increases from
10 mA to 20 mA, when the base current increases from 0.12 mA to 0.24 mA. Then

the current gain is
CE D08’ 5 St Er0y06 60 eerd Deogdo paamitnn 0.12 mA dvod
0.24 mA % 2808 &rros Ao P 10 WA od 20 mA ARG,

90208 DS DT )P

Options :

(%}

(8]

, v 82.

3. % 80.2



4 % 96.4

Question Number : 119 Question Id : 5500532359 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The p-n junction which generates an emf when the solar radiation incidents on it is

J6 5039 Do Babtio ooe emf &y o BSodriv) p-n Hod
Options :
light emitting diode

- S0 el dadré
1. % 0

zener diode

332'5515 codrs
“

solar cell

DS 2080
"

photo diode

5008 &G

Question Number : 120 Question Id : 5500532360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The waves that are used for line-of-sight (LOS) communication are
507 DOVTAS &DAfowd Sdorren
Options :

sky wave

. 255 F SSorren

space waves

By S8orren
2. %

eround waves

. i Sdorren

3.

sound waves

$e0 SGore
4.% @
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Question Number : 121 Question Id : 5500532361 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The number of radial and angular nodes of 4f orbital respectively are
4 583785 GIng). AaeS BuBokw ol S& © Doajen HEHR
Options:

.0

—
#
Thd

, x 2.1

4 % 152

Question Number : 122 Question Id : 5500532362 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Work function of Cu metal is 4.8 eV. What is the approximate wavelength of
incident radiation required to eject electrons from its surface?

(h = 6.626x 107Is)
Cu &'iro ahog), DD pdaho 4.8 eV. o €8SV ol TS V) WAL
BOETAS BHVED AP 3680 380380 TTYT o

(h = 6.626x 10™'Ts)

Options :



, = ~00nm
, % 450 nm

5 % 400 nm

4 258 nm

Question Number : 123 Question Id : 5500532363 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In normal oxides of group 13 elements. the ratio of element to oxygen is
47D 13 doruso Poron 836 o, Lrodhn Hiak 83wd 0 Mg
Options :

1% 2:1

Question Number : 124 Question Id : 5500532364 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following is not correct with the property mentioned against them?

$08 T8 B Ao AT APDDD GT7) A3 VEENEG F¢?
Options:

I' > 1>T1:radius
. s Ist aﬂ?@“go

L1 = Be > B : first ionization enthalpy

Li > Be > B : 20068 e9c3rd&00 .;)oqr@;}
2.

Cl = S = P: electronegativity

Cl=S =P: coes Smgme‘_’a&s@
3. % ?

Rb = K > Na : screening effect

. Rb = K > Na : cdHQS Dersdo
4.

Question Number : 125 Question Id : 5500532365 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The correct order of bond angles of H»S, NH3, BF; and SiHy is

H,S. NH;3, BF; 80 SiHy © 2006 S50 g, 26qd o 967
Options :

1. ¢ H>S < NH; < SiH4 < BF;



“ NH; < H,S < SiH4 < BF;
3 % H>S < SiH4 < NH3; < BF3

4 % H>S < NH; < BF; < SiHy4

Question Number : 126 Question Id : 5500532366 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The hybridization and number of lone pair of electrons on central atom of SFy

respectively are

SF1 &5° 3008 H6Ara0) 20$8%60:a0, oA D (o wokd 2 JUTR © D0
Nl Sioy
Options:

1@ sde 1

: 5 S
Z.wspd._

Question Number : 127 Question Id : 5500532367 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Elemental sulphur is known fo exist as S, (in vapor state) at 1000 K. At this
temperature, if 1 g of sulphur occupied 2.5625 L, its pressure (in atm) is

(Assume, Svapors follow the ideal gas equation. Given, R = 0.082 L atm mol K'I)
1000 K ¢, Surg 206 ) (eridy N8S) drod’ cotod. & eal'id 36,

Ig en6 w&bm 25625 L {n&%0rer ) 85, T Hdo atm e

(Seraryen et arafn DSEE) 06D w0800, A \WE

R =0.082 L atm mol " K')

Options :

2.« 0.5

53 % 40

2.0

Question Number : 128 Question Id : 5500532368 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At T (K). a gas obeys kinetic gas equation. At this temperature, for a given number
of molecules of this gas, the value of PV 1s x. If the number of molecules is doubled,
at T (K). the value of PV would be :

T (K) 56, 28 o) Somioso A0SR FER000, & Ealti 565, D
TPO8 eV Do, PV 20D X. T (K) 96 Tad) VYL o 6&30&.1)
003, PV Jend dogh?



Options :

Question Number : 129 Question Id : 5500532369 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

An organic compound containing C, H and N has 72.7% C, 13.1% H and 14.1% N.

Its empirical formula is

C. Hooaio N ew o a8 563d ‘r’ofug;féoe.‘ie 72.7% C, 13.1% H o8ai0 14.1% N

&) Q. T 0TS Sﬂdjéw

Options :

1. ® CﬁHllN

C,H.N

2. %

, « CJLN

4 % C6H13N2



Question Number : 130 Question Id : 5500532370 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If for an ideal gas reaction 2A(g)+B(g) — 2C(g) the standard internal energy and

entropy changes AU, AS”are -8.80 kJ mol™. -50 J K™ mol ™ respectively at 300 K.
which of the following statements is correct?

300K 96 2A(g)+B(g) » 2C(g) w66 mrafue d6jS dare o933,
doS'a) v SHEHOY AU?, AS” e d6oér -8.80 kI mol™, -50 T K™ mol™” eonsid
308 DdpwL’ I HBHG?

Options :

AG® =—3.71 kJ mol™ . the reaction is non-spontaneous

AG® =—3.71kJ mol ™. S MR BT

AG® =3.71 kJ mol™, the reaction is spontaneous

AG® ==3.71 kImol™ . e0os>& 5,6 56
2. %

¥ -1 . .
AG” =3.71 kImol ™ . the reaction is non-spontaneous

AG" =3.71 kI mol™, ey b SIey
3.¢

AG® =—26.29 kImol ™. the reaction is spontaneous

AG” =-26.29 kI mol ™", esardsy gy 565
4. % ”



Question Number : 131 Question Id : 5500532371 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
On complete combustion of one mole of butane according to the following equation

CH,(2)+220,(2) > 40, (¢) +SHO()

the standard enthalpy of the reaction is —2879 kI mol™. If the standard enthalpy of
formation of CO; (g). HyO(l) are =394, —286 kI mol” respectively, standard
enthalpy of formation of butane (in kI mol™) is

CH, () +20, () 400, () +SH0 (8) 1

4 i v
2

5780 28 3O ar(B &
QPO Sirdo dabrr ‘55,5 DATE Jom@c} -2879 kT mol-". €O, (o), HiO(g) ©
2A7E VoA .Doc;rbh e Sedme =394, —286 kT mol~" e 9o m&éﬁb
QRAE) 0T .Doc;s“@g (kJ mol” ")

Options : |

. % —3006

, . 3006

Question Number : 132 Question Id : 5500532372 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The equilibrium constant for the reaction,
H,CO0,(aq)=2H" (aq)+CO; (aq)is 2x107"
The equilibrium constant for the reaction,
H,CO,(aq)=H" (aq)+HCO; (aq)is 4x107

The equilibrium constant for HCO; (aq)=H" (aq) +CO; (aq) i
H,C0,(aq) = 2H" (aq)+CO} (aq) , 565 220828 Porosidw 2x10™
H,C0,(ag)=H" (aq) +HCO; (aq) , e3> 0578 Jorosion 4x107
wand HCO;(aq)=H" (aq)+CO; (aq) AT -,:amgoﬁga %msm
Options :

(4107 )+(2x107")
. |

4%1077

5 % 2x107Y

- -11
3 ¢ 5x10

4 » 8x107

Question Number : 133 Question Id : 5500532373 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The correct equation for K_ for the following reaction is
(1 = liquid state: g = gaseous state).

308 SO0, K. 8 280303 2060

(1= GD03; g = T030 D)
[ G

A(.1}+.B(g) —C(g)
L e
I

Question Number : 134 Question Id : 5500532374 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
ListI

(Type of hydride)

A. Electron-deficient

B. Electron - rich

C. Electron — precise

D. Interstitial

308 TR 2SDERDAD
e |

(Graé& 8%o)

QE.J'E.:';“EJ & mSéej Heod
QUE"E) 0 eS0T o)

aug’fs e St:);)@oﬂ“ Heod

o 0w p

@@Doémﬂé

The correct answer 1s

DB DATTEO0

Options :

ListII
(Elements of the group)
I. group -4
II. group - 14
IIL. group - 13
IV. group - 15

V. group - 1

e 11

(Brd Sarosten)

L ey -4
IL. 52y - 14
ML 5575 -13
IV. goa- 15

V. e - 1

.« A—IL B-IIL C-1 D-1V

, x A-—ILB-ILC-IV,D-1I

3.\:;,,_.,i-th—I[IIE!‘»—I‘v".C—IL_D—I



.« A-IV.B-LC-V.D-III

Question Number : 135 Question Id : 5500532375 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In aqueous solutions the strongest reducing agents in group 1 and group 2 elements

of periodic table respectively are

8508 S B (e 1 20Bakw (rd 2 resud’d vdwud Sabddmen

T8 20mdErs S

Options:

. = Li, Be
, » Cs.Ba

3 v L1 Ba

~ Na. Mg
4, % =

Question Number : 136 Question Id : 5500532376 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The correct order of atomic radii of Al. Ga. In. Tl 1s

AL Ga. In. Tl © D680 SIgre 28D $:vo

Options :



Ga<In<Tl<Al
1, %

ZIJGaﬁfﬂlﬁfIn{.T]

Al<Ga<In<TI
3.

4% Al<In<Ga<Tl

Question Number : 137 Question Id : 5500532377 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Among the following the correct statements are

I. Carbon black is obtamed by burning hydrocarbons in a limited supply of air
I Carbon black is obtamed by burning hydrocarbons in absence of air

III. Coke is obtained by burning coal at high temperatures in a limited supply of
air

IV. Coke 1s obtained by burning coal at high temperatures in absence of air

308 TS DO TR

L 2ES6)0 00 08D IS S0l 56,0 T 0daved
I1ES6\S 0 T G0t 08 56\ T'é vD0b

IIL §65 %0 20208 S 0i acl'ide 5¢ ol §8 0dRo0d
IV. £ % ™ Sborr 088 aalfide 38 20063 §§ 003008

The correct answer 1s
RBALA DT

Options :



L[, IV only

LIV argd
1. %

IT, 11T only

I1, 1T S5°ga
2. %

IT. IV only

IL IV &5
3. =%

I, IIT only
L IIT Soeehado

Question Number : 138 Question Id : 5500532378 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

308 ) adndSw
List-1 List—1II
FdT -1 & -1
A, CH,=CH, [ Electrophilic substitution reaction
ng 095 POEDE 6
B. 0 I Nucleophilic substitution reaction
CH;—C —CH
: ? wzgéoaria% DOEDN L
£ @ [T Electrophilic addition reaction
o)'?.?%j 298 oo c’:cﬁ?g
D.  CHCI IV Nucleophilic addition reaction
RAP(SATrdS Dosud Sof

The correct answer 15
R0R VATTR0
Options :

A-1 B-H C-IH D-IV

1. %
, » A=, B-II, C-1V, D-1

L, A-IL B-IV, C-1 D-II



, BT B3 =R Dl

Question Number : 139 Question Id : 5500532379 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The decreasing order of pK, of the following aromatic amines

806 WA BArHE DS © PK, dende &1 $200

CH,NH, foCHs ENMCH3
v 00w C
Options :
e @ >(0) > (@) > ©

L« @) >(© > (@ > O

(b) > (@ >(© > @

(b) =(c) >(d) > (a)

Question Number : 140 Question Id : 5500532380 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



CsCl crystallizes in a BCC structure. The radius of cation and anions are 165 pm
and 182 pm respectively. What is the edge length of the unit cell?

BCC ey asinods” C5Cl #0y3856890 Sockory. SHOLFD ddasy sdairs T do
DA™ 165 pm 8ok 182 pm e9ond crdt 2 axws) ot TED) Sods?
Options :

1 400 pm
, « 410 pm
5 % 420 pm

4 430 pm

Question Number : 141 Question Id : 5500532381 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

S08 TP 2SHEIAD.

List —1 List —1II
rddoe—1 o — 11
ATm [LiKym
B. AT; II. 1 Kfm
AL III. 1 CST

P'_p : " n
D. — V. i 2
P (1, +1n,

The correct answer 1s

QWO VOTTV0

Options :
1 =0 B-M L=, D-IV
5 % A-IV, B-1ll, C-1II D-—1

sxA-1 B-IIL C-IV, D-II

4 % B=dlly, B-1I¥, -0, D-l

Question Number : 142 Question Id : 5500532382 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1.06 g of NayCO3 (molar mass = 106 g mol™) is dissolved in 500 g water. What 1s
its molality?

1.06 g © NayCO3 (rerd (o3 = 106 gnwl't) 500 g v S’ $BRoTE. T

20798 doch?

Options :

; x02m

- 2m

4 % 0.04m

Question Number : 143 Question Id : 5500532383 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At T(K). the electrode potential of A*(X M)|A(s) is — 0.2285V. The value of

Xinmol L™ is (GivenE . =-0.14V)

T(K) ¢ A (XM)|AG) augé #¢)0 —0.2285V. X desd mol L™ o'
(9038 E . =-0.14V)
Options :

, %001



L % 0.02

4 v 0.001

Question Number : 144 Question Id : 5500532384 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the correct statements about order of reaction

I) It 1s equal to sum of the powers of concentration terms in rate equation

IT) It 1s always a whole number

IIT) Tt is determined experimentally

IV) It is not applicable for complex reactions

W07 SAT0500% Dowodor) POELY Tr(ajLR MHBotsec:

) 28 B DB D TPEd DIV AFTPos e DTS DArH0
II) =dé ag@gm ALRL) feRALEY

IIT) A DO LS DGO

IV) & %03 S609 S0t

Options :

I & II only

- I 08030 1T Soedha

IT & III only

, T1206000 I S8



[ & IIT only

3 ¢ I 2o8csin IIT saregdad

IT & IV only

. IT 08030 IV &Soegdadn

Question Number : 145 Question Id : 5500532385 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the macromolecular colloids from the list given below

Synthetic rubber Rhombic Sulphur Sodium Stearate
I I I
Cellulose Enzymes Sodium lauryl sulphate
IV v VI

S00 @GS D 6" e emSgrongiy Mo,

0% 66 0005 20\6 Jdato Haoes
I I I
SUVGES oF Jdao &GS 56
IV v VI
Options :

L. III & VI only
- LI & VI sdoegdado



II. IIT & IV only
IL III & IV soegdao

L. IV & V only

LIV & V 2o
3.

LIV &V only

LIV & V Sra
4. &

Question Number : 146 Question Id : 5500532386 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

50 mL of [Agl] / Ag" sol is coagulated by the addition of 15 mL of 0.001 M

potassium iodide solution. The flocculation value of potassium iodide s

S.0mL o [Agl] /Ag” ¢ & )00 rrocstrdS 15 mlL © 0.001 M JTeracho

OAFEE TOm) SUDSVN Gotnod. JEPacko w@rgé 2,083 Jeued

Options :

1.336

-

Lad

3. ¢



Question Number : 147 Question Id : 5500532387 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The sulphide ore of copper containing iron as impurity is removed in the form of a
slag by adding an oxide of element, X. Identify the element X

506 dwg) AG\E TS 26D BIoT o8, T Simdvwom
F0fodtrds X ey Surogo ding) e5\6 & SeniErd. duroo X &
ABocIAY.
Options :

Calcium

- s5e8ado
] ol

Magnesium

&Jﬁg\t Folos $1s)

Silicon

2D

3. %

Aluminum

@wéﬁaﬂojm
4. %

Question Number : 148 Question Id : 5500532388 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In which of the following reactions phosphine is not formed?
308 O BE[ES” D\ DBYEEL?
Options:

P, + 3NaOH + 3H,0 —

_ PCL+3H,0>
»

PH,I+KOH —»
3. %

o« CasP +6H,0—

Question Number : 149 Question Id : 5500532389 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Observe the following complexes of Co*

i [CoNH,),|” i [Co(H,0),]" i [Cofen),]”

The correct increasing order for the wavelengths of absorption in the visible region
for the above complexes is

308 Co™ "nmﬁg”t}m Hdootdot

i [Co(NH,),]"  ii.[Co(H,0),]" i [Cofen),]”
2 203aren &yffesd Frodods” § ok Sdor B PO 267 00
Options :

1. ¢ 111, 1, 11



, w1, 1, i
2w i i, i

o w i, i,

Question Number : 150 Question Id : 5500532390 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is/are correct?

1. CrO; 15 an acidic oxide

it. Mo(VI) and W (VT) are found to be more stable than Cr (VI)

i1. All Cu (II) halides are known except iodide

: - 1,3t A o B T r 2
iv. The E© value for Cr*"/Cr*" is much more positive than Mn*/Mn

308 TS B HBALIB(D)?

1. Cr0z 28 ey SN

ii. Cr (VI) $0& Mo (VI) So80sn W (VI) 00 fgd@é&

fii. 06 Wrgs 3y wd) Cu (Il) HGE w I\cera.

iv. E© Qend Cr/Cr & Mn® Mn”" o8 arer 5. G 0T Eokvod.
Options :
1, 11, 111 only

1. 1i. 111 Soeehadd
1.¢ =



v only
. 1V S8

i1, 1v only

i1, 1V Sorgha0
3. %

1. 111 only

4 % 1111 gD

Question Number : 151 Question Id : 5500532391 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A polymer sample contains 5 molecules of molar mass 1000, 3 molecules of molar
mass 500 and 2 molecules of molar mass 250. What is its weight average molecular

weight (Mw)?

w8 P06 Todd & Arerd B2 1000 o wendHeo 5, Arerd o3
500 e e 3 odokn Arerd Qé&m? 250 flo eren 2 &3 Q. R
&rE D00 wrerdo (Hw) Joeh?

Options :

1 % 7100



Question Number : 152 Question Id : 5500532392 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Nucleotides in RNA are joined by which of the following phosphodiester linkage?
RNA & SV 4 &ﬁﬁhga‘{g& 20TFOS SeDacTow?

Options :

Question Number : 153 Question Id : 5500532393 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A vitamin (X)) 1s water soluble but can be stored in the body. Deficiency of X causes

which disease?

28 DI (X) NS" $hrbdood 52 36608’ DX Gotwod. X &' J B

540087

Options :



Beri Beri

1 % 30830

Convulsions

5, % e Bro

Pernicious anaemia

8% S
3.¢

Cheulosis

352D

4. %

Question Number : 154 Question Id : 5500532394 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following drug is used on diseased skin surface?
Brd3 S W80 &bbdw0 P TG &0t S0 TS’ IB?
Options:

Salvarsan

.. 5“’9_:55 DD
1. %

Tetracyclin

EEr0S

2 S L S il



Furacin

RPJBDD

Ampicillin

4% DonHdS

Question Number : 155 Question Id : 5500532395 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following exhibits optical isomerism?
308 TS 2D oides FesyT) Db FaN?

CHs?HCHzCHa (CH3),CHCHBr  (BrCH,),CHCH,CH; ~ CH4CH,CHCH(CHs),

CH§Br CH,

IV
Options :

1 » L 1L only

_ IT, IIT only
- I. IV only

4 x LIV only



Question Number : 156 Question Id : 5500532396 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is the major product formed in the reaction given below?

S08 SHE(ES° DBV PO ESND) D IE?

Br,/CCl
/\ B e B GyRyED

Options :
1-Bromopropane

e C A 0D

2-Bromopropane
0 6 o P
2. % =
1. 2-Dibromopropane

1, 2-8 8 S 8D

1, 3-Dibromopropane

L 13- 2 82 JDd

Question Number : 157 Question Id : 5500532397 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What is the intermediate in the following reaction?

308 B58(8° DG\E 0G0 DEd?

RCN + SaCl, + HC] ————=RCHO
Options :
Amine

| DD

Imine

5 o RO

Ammoniuim ion

@&P&f\'}oﬂm 03P
3,

Ammonia

@957 DAd>r
4. %

Question Number : 158 Question Id : 5500532398 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Jones reagent is used in which of the following conversion?
&'y 5680 &0 08 m%&ﬁ" EDOAE?

Options:

CH,CH,CH,CH,0H —CH,CH,CH,COOH

1.4



CH,CH,CH,0H —CH,CH,CHO

3

_ C4H,CH =CH, —C(H,CH,CH,0H

, » CH,CH=CHCH, —2H,CCHO

Question Number : 159 Question Id : 5500532399 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Match the following

308 T ahHFBd

List—1 (Source)
o -1 (Sore DEEgAw)

A. Vinegar (r6)
B. Butter (béﬂl)

C.Ants  (Dooew)

Options :

1_%.igf‘s—IIL B— IV

, wA-TIL B-1V.
A —1V; B-1I

List — IT (Carboxylic acid)

2 | | (s“maéﬂﬁ)é e2:300)
I. HCOOH
II. CH;CH,COOH
III. CH3COOH

IV. CH;CH,CH,COOH

C—1II



4 x A1V, B=ll, -

Question Number : 160 Question Id : 5500532400 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Given below are two statements

Assertion (A): Ethylamine is stronger base than ammonia

Reason (R): It is due to -I effect of ethyl group

The correct answer is

S0 G0 SEERCILRCIN Al oo Les

DI BB (A): SBS D AT, T o8 DD 6o
s°6e20 (R): €30 Dadorirdn aing), -1 Herdo S0

2OD DATTD0
Options:
Both A and R are correct and R 1s correct explanation of A.

A 2800 R en Gokor 2GR, 08adn R 9d0d A D8R DHes.

1. %

Both A and R are correct but R is not correct explanation of A.
., A08cin R e Gocr 0D, 5°Q R 098008 AL 280 Daddes 5760,
2.
A is correct but R is incorrect.

., A RB58 5 R 0838 T,



A 1s mcorrect but R 1s correct.

, o A 0036 5 50 R 2008,



